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d*fiplain with neafuskei&f a precision rota$/ ph*. shifter. (08 Marks)
b. " What are losses eilbountered in micrdsfrio line? Discuss brieflv. (08 Marks)b. '' What are losses effio&ntered in micr_ds{rip line? Discuss briefly. (08 Marks)
c. Design a stn{$srFne transmissio "'ffnb'"for (w/b) ratio to be less ttran 0.5. The substrate

thickness ffihe sed is 0.32cffiaving a dielectric constant of 3.2. The characteristic
impedance tifthe strip line q designed should be exactly 58f) (04 Marks)

6 a. Derive the radar range qqffion. (06 Marks)
b. With the help ofneat bl66#diagram, explain the operation ofradar system. (08 Marks)u. YYlul ule rcrP or ncat orosKqragram, expram me OpeIaUOn OI faoaf System. (0E Marks)
c. A radar is expectef, totf,etect atarget of cross sectional area of 10m2. The antenna used is a

\
,*f'ry

PAR%ffiB
r rotary ph*.

ameter of 5 mff. The radar operates at a wavelength of 10cm and
power of 0.2Mw. Receiver can detect a minimum signal power of 10-13

watts. Find the nr'dximum range at which target can be detected.

parabolic dish
transmits
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(06 Marks)



With neat block diagram, explain the operation of
Write briefnote on: i) Delay line canceller ii) Bli
Determine the doppler frequency shift

KMPH and moving in trajectory inclined

108C54

(08 Marks)

fted. (06 Marks)
aeroplane moving with a speed of 800

(20 Marks)
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rvrQl"fuar.7a.
b.
c.

radar operates at a wave length of 7.5cm. ;1
%#

Write a short note on: d.W
a. Parametric amplifier. fu***
b. Shielded sttip iires. -#
c. Precision type variable attenffiffiF
d. Bethe-hole coupler. '- ffi
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